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Aufgabe 6.1

(a) 3a4 · 2a5 = 6a9 (b) 5x3 · 7x6 = 35x9

Aufgabe 6.2

(a) 24t9 : 8t2 = 24t9 : (8 · t2) = 24t9 : 8 : t2 = 3t7

(b) 24t9 : 8 · t2 = 3t11

Aufgabe 6.3

12y7 · 10y5 : 15y9 = 12 · 10
15

· y7+5−9 =
3 · 4 · 2 · 5

3 · 5
· y3 = 8y3

Aufgabe 6.4

60z14 : 4z3 : 3z5 = 60z14 : (4z3 · 3z5) = 60z14

4z3 · 3z5
=

5z14

z8
= 5z6

Aufgabe 6.5

60z14 :
(
4z3 : 3z5

)
= 60z14 : 4z3 · 3z5 = 60z14 · 3z5

4z3
=

45z19

z3
= 45z16

Aufgabe 6.6

(a) (p+ q)3 · (p+ q)5 = (p+ q)3+5 = (p+ q)8

(b) (v + 2w)7 : (v + 2w)4 = (v + 2w)7−4 = (v + 2w)3

Aufgabe 6.7

(a) (x+ y)3 − (x+ y)3 = 0

(b) (s− t)8 + (s− t)8 = 2(s− t)8

Aufgabe 6.8

(a)
(
x80 − x60

)
: x20 = x80 : x20 − x60 : x20 = x60 − x40

(b)
(
y80 + y60

)
· y20 = y80 · y20 + y60 · y20 = y100 + y80

Aufgabe 6.9(
c15 − c12 + c11

)
: c9 = c15 : c9 − c12 : c9 + c11 : c9 = c6 − c3 + c2
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Aufgabe 6.10

(a) x3n+3 :
(
xn · x2

)
= x3n+3 : xn+2 = x3n+3−(n+2) = x2n+1

(b) y2n+3 :
(
y3n−1 : y2n

)
= y2n+3 : yn−1 = y(2n+3)−(n−1) = yn+4

Aufgabe 6.11

(a) c2n · c : cn+2 = c2n+1−(n+2) = cn−1

(b) x4n+5 : x2n−4 · x3n+2 = x4n+5−(2n−4)+3n+2 = x4n+5−2n+4+3n+2 = x5n+11

Aufgabe 6.12

(a)
(
a2n+1 + an+4

)
· an−1 = a2n+1 · an−1 + an+4

)
· an−1

= a2n+1+n−1 + an+4+n−1

= a3n + a2n+3

(b)
(
z3x−2 − z2x+2

)
: zx+1 = z3x−2 : zx+1 − z2x+2 : zx+1

= z3x−2−(x+1) − z2x+2−(x+1)

= z2x−3 − zx+1

Aufgabe 6.13

3v7 · (2v3 − 8v5) : 6v4 = (6v10 − 24v12) : 6v4 = v6 − 4v8

Aufgabe 6.14

(a)

(
d

5

)9

:

(
d

5

)7

=

(
d

5

)2

(b)

(
6

t

)5

·
(
t

6

)4

=
65

t5
· t

4

64
=

6

t

Aufgabe 6.15

(a)
(
367

)25 · (333)25 = (
367 · 333

)25
=

(
3100

)25
= 32500

(b)
(
799

)34
:
(
798

)34
=

(
799 : 798

)34
=

(
71
)34

= 734

Aufgabe 6.16

(a) 57 · 254 = 57 · (52)4 = 57 · 58 = 515

(b) 821 : 230 = (23)21 : 230 = 263 : 230 = 233
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Aufgabe 6.17

(a) 97 · 274 = (32)7 · (33)4 = 314 · 312 = 326

(b) 646 : 1285 = (26)6 : (27)5 = 236 : 235 = 21 = 2

Aufgabe 6.18

(a) 1009 · 10008 · 107 = 1018 · 1024 · 107 = 1018+24+7 = 1049

(b) 2513 : 517 · 1254 = (52)13 : 517 · (53)4 = 526 : 517 · 512 = 526−17+12 = 521

Aufgabe 6.19

(a) 12.58 · 28 · 48 = (12.5 · 2 · 4)8 = 1008 = 1016

(b) 0.420 · 620 : 1.220 = (0.4 · 6 : 1.2)20 = (2.4 : 1.2)20 = 220

Aufgabe 6.20

(a)
(
59 · 189

)
:
(
39 · 159

)
=

(5 · 18)9

(3 · 15)9
=

(
5 · 18
3 · 15

)9

= 29 = 512

(b)
(
67 · 47

)
:
(
127 : 87

)
= 67 · 47 : 127 · 87 = (6 · 4 : 12 · 8)7 = 167 = (24)7 = 228

Aufgabe 6.21

(a)
(
x4
)3n+1

:
(
x3
)4n+1

= x4(3n+1) : x3(4n+1) = x12n+4−(12n+3) = x1 = x

(b)
(
an+1 · a2n−1

)4
=

(
an+1+2n−1

)4
=

(
a3n

)4
= a12n

Aufgabe 6.22

(a)
(
2z3 · 5z2

)8
=

(
10z5

)8
= 108z40

(b)
(
x2yz3

)15
:
(
xyz2

)15
=

(
x2yz3 : xyz2

)15
= (xz)15 = x15z15

Aufgabe 6.23

(a)
(
(−x)2

)3
= (−x)2·3 = (−x)6 = x6

(b)
(
(−x)3

)2
= (−x)3·2 = (−x)6 = x6
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Aufgabe 6.24

(a)
(
−x2

)3
= −(x2)3 = −x6

(b)
(
−x3

)2
= (x3)2 = x6

Aufgabe 6.25

(a)
(
12rst

)m
: (4st)m = (12rst : 4st)m = (3r)m

(b)
(
uvw

)n
: uvwn = unvnwn : (u · v · wn)

= unvnwn : u1 : v1 : wn = un−1vn−1

Aufgabe 6.26

(a) (8x2 − 6x)7 : (4x− 3)7 =

(
8x2 − 6x

4x− 3

)7

=

(
2x(4x− 3)

4x− 3

)7

= (2x)7

(b) (x− y)7 : (y − x)7 =

(
x− y

y − x

)7

=

(
−(y − x)

y − x

)7

= (−1)7 = −1

Aufgabe 6.27

(a) (p2 − q2)6 : (p− q)6 =

(
p2 − q2

p− q

)6

=

(
(p+ q)(p− q)

p− q

)6

= (p+ q)6

(b) (a2 − b2)9 : (a+ b)9 =

(
a2 − b2

a+ b

)9

=

(
(a+ b)(a− b)

a+ b

)9

= (a− b)9

Aufgabe 6.28

(a) (z2 + 6z + 9)8 : (z + 3)8 =

(
z2 + 6z + 9

z + 3

)8

=

(
(z + 3)2

z + 3

)8

= (z + 3)8

(b) (c2 + 4c+ 3)n : (c+ 3)n =

(
c2 + 4c+ 3

c+ 3

)n

=

(
(c+ 1)(c+ 3)

c+ 3

)n

= (c+ 1)n
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